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Question Number : 1 Question Id : 872834605 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If xy =180 and HC.F. (x,y) =3 .then LCM. (x,y) =

xy = 180 $o8cs0 5. & z=. (1, ¥) =3 s & & 6. (x,y) =

Options :
| = 30

2. v 60
3% 45

4.% 50

Question Number : 2 Question Id : 872834606 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If x2+y?=6xy.then2log(x+y) =
x? +y% = 6xy sons 2log(x +y) =
Options :
L logx +logy 4+ 3log2

logx +logy +2log3

2. %

logx +logy + 2log2

4, = logx +logy +3log3

Question Number : 3 Question Id : 872834607 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following, a set that is NOT an empty set 1s
e (200 SEEE, U S0 T 3

Options :
| % (x:x€N,x+5=5}
, % LXXEZ 3<x<4}

; « PrixEW, x+7 =5}

4.J{x:xEQ,3 < x <4}

Question Number : 4 Question Id : 872834608 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A quadratic polynomial whose zeroes are 1 and —3 1s
1 S8ty —3 e %:raniémm He ;ga:maa
Options :

x> —2x—3
| ®

- x2-—2x 43

7 _
3"./:qc +2x—3

L% x2+2x+3

Question Number : 5 Question Id : 872834609 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The sum of the additive inverse and multiplicative inverse of 2 is
2 S, Sofed H0dkn MeTY d6%Ere Indo

Options :

S [eS]

e e

1
4. % 2

Question Number : 6 Question Id : 872834610 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the pair of equations 4x — 3y = 9 and 2x + ky = 11 has no solution,
then the value of %’ is

4x — 3y =9 abOalv 2x + ky = 11 350eme a0 gy G5Fawss® k' Jeos

Options :

3.¢ 2

4. %



Question Number : 7 Question Id : 872834611 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If x = 3 is a root of the quadratic equation 5x* —kx +11 =0,
then the value of 'k’ 1s

5x2 —kx+11=0 55M%0emo Bk, 28 Moo X = 3 eond k' dess

Options :
16
1. % 3
56
2. 3
—-17
. 3
4, % -

Question Number : 8 Question Id : 872834612 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, a quadratic equation that has real and equal roots 1s
1 (300 S, TRT DOH JIPN Srorodd SOAT SFIWEee

Options :

| % 2x2—=3x+5=0

, % 2x2—6x—3=0
;% 3x*—4/3x—4=0

J3ﬁ—4ﬁh+4=0

Question Number : 9 Question Id : 872834613 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

For a circle with center ‘O’ PA and PB are tangents from external point P. If PA = 5¢cm
and ~APB = 60°. then the length of chord AB (in cm) is

‘07 ZoEom fie Sy mriedoey P Mook AdS $EBpes PA %8c5e PB o

PA = 57%0 o 5:0c £APB = 60° woni oy AB &% (o 2 oY

i
e

Options :



-
e

)

3y

Question Number : 10 Question Id : 872834614 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Inan AP.,ifd = -2, n=>5anda, = 0, then the value of ‘a " 1s
o8 ©odEES d = —2 n =5 meam a4, = Deans ‘d’ dess

Options :
| % 10

Question Number : 11 Question Id : 872834615 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

List price of an article is T1050. If 6% sales tax 1s charged, then the bill amount
(in Rupees) is

w3 S @E¥ey Jo 1050 0% 0% wimyxp 95y 26005 BQouHedy

fes Inge (rFched’)

Options :
| % 987

, » 1113
s 1131

L« 1311

Question Number : 12 Question Id : 872834616 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In the given figure. MN || QR .if PM = xcm. MQ = 10cm.
PN = (x —2) cm and NR = 6 cm, then the value of x (in cm) 1s
NS 3006' MN [|QR , 50 PM = xcd MQ = 103

PN = (x—2) %o 3835» NR =6 o X wond X deod (o b oY

Options :
Lv D

4. & 12

Question Number : 13 Question Id : 872834617 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If angles of a triangle are in the ratio of 1 : 1 : 1. then the ratio of its sides 1s
2¥ @ncd Fero 28 11 10 1 wons od gowe 242

Options :
L elil:il

2% 1:1:v2
;% 1:4/3:2

gu1:1:2

Question Number : 14 Question Id : 872834618 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AB 1s diameter of a circle with center (—2, 2). If co-ordinates of pomt B are (3,4). then
co-ordinates of point A are

(—2,2) 2oty Joiom Ko 5)omdd AB mysin. o B oty dtrimes (3,4)
esons A Doy JEFHTen
Options :

@0

2. % (5?0)

3. % (=5 0)



sv (7.0)

Question Number : 15 Question Id : 872834619 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The value of cos 60° cos 30° — sin 60°sin 30° 1s
cos 60°cos 30° — sin 60°sin 30° Qens
Options :
1
% 2

2. % 1
3. 0

V3
2

4. %

Question Number : 16 Question Id : 872834620 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If an unbiased dice 1s thrown once. then the probability of getting a number less than 3
on its top face 1s
¥ 3?{3&5 o S R R v T 5‘2@35‘@&:, [ 4] ':._: a‘ﬁ::::a:o".n_: 3 .-."‘;Ta &5& 5::3;:5 SRl Ko ﬁcep"ﬁéﬁ

Options :
1

1. % .

w | =

o | =

(]

Question Number : 17 Question Id : 872834621 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a solid sphere of radius 5cm 1s melted and cast into a solid cone of same radius, then the
height of the cone made (in cm) 1s

50 W FErge fo X $oN Afdo ¥oNed 6l ayrde Ko w¥ PoN JopsPds SN I
@ JopoP & (o 2 ed%
Options :

L% 5



4.v 20

Question Number : 18 Question Id : 872834622 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The mode of the observations 9, 11, 15, x, 11, 12, 15, 9, 12 is 12, then the value
of 'x' is

9, 11, 15, x, 11, 12, 15, 9, 12 oo dFuodte 12 wond 'x' Densd

Options :

1. # E

2. % 11
v 12

4 % 15

Question Number : 19 Question Id : 872834623 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If circumference and area of a circle are numerically equal. then the radius of the circle is
¥ S)Ee S Seege S0din HFRAG Sepyd e Iirde Sond © g Tyrge

Options :

1.331

2.v 2
3. % 3

44

Question Number : 20 Question Id : 872834624 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The simple interest on a certain amount borrowed for 2 years at 10% per annum is 400,
then the amount borrowed (in Rupees) 1s
o) 3 Foos éna:‘méjo_; 2 SosdyTren sosdyedd 10%583ts TS wdhy Fepse 3& 2400,
Gons wf) IS Fswny (Errciedt)
Options :
| v 2000

, % 2800



5w 1600

4w 2400

Question Number : 21 Question Id : 872834625 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A magnet doesn’t attract
@cﬁ:ﬁﬂ&oéo?ﬁ ©58.050608

Options :
Stainless steel spoon
ROV S BoT®

Safety pin
L LGNS

Iron nail

Hair Pin
233 33:-6:&

Question Number : 22 Question Id : 872834626 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two statements are given. Read them carefully and choose the correct option
2% Bod T aaﬁ;mzs;m. TEQ erigre S8, 8GR Jkrrard) Lo BP0
(a). We can make 1ron to float on water

Sosnt NS Bouyr Tobday)

(b). We can make wood to sink in water
B DS SudMitnre TcHSS)

Options :

Statement (a) 1s correct and (b) 1s wrong

(a) & =¥ JBR6 Hdaiw (b) & =¥jo W8
I

Statement (a) 1s wrong and (b) 1s correct

(a)s o%o ¥Bseed baiw (b) S =¥jo $Bs
2. %

Both statements are correct
- Cod Feoger LB

Both statements are wrong

. Bod TS Slalesty)
4.



Question Number : 23 Question Id : 872834627 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The device which demonstrates the rectilinear propagation of light is
08 J8¢ By S8 (Boirerd) BOGH5HBT HBES0

Options :

Binocular

Boedyed

Kaleidoscope
SDAEFRED

Pinhole Camera

;v DTS TR0

Tube light
e BeT

Question Number : 24 Question Id : 872834628 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is measured with thermometer?
Bod womre & Fomfrerhs® 0T ?

Options :

Humudity
w8

Ranfall
- H8ars0
. )

Temperature
- e 18

Pressure
5580
*

Question Number : 25 Question Id : 872834629 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following, a non metal which acts as an electric conductor 1s
& (Bod a’amcga:éa D& =88 oFmo OAS o&'ro
Options :
Zie
| % 20E



Rubber

2. % 53%3'5

Mercury
plnfetTe)

3. %

Graphite
25
4.9

Question Number : 26 Question Id : 872834630 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The symbol we observe on ‘PET” bottles 1s
‘PET’ barop 50203 Qim0

Options :

&

I
.. &

o\
N EX

A
o

4.%

Question Number : 27 Question Id : 872834631 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To get 11d of indigestion problem, we use
wff 3 Hod alHto FolmrlE BITFNCD

Options :
Antibiotic

- SSro@rdE
Analgesic
sTaHE

2. =
Antacid

o

5 dSrotrRE

Antiseptic

dSrof DHE
4, % =



Question Number : 28 Question Id : 872834632 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, a chemical combination reaction is
208 TBE°, EcHE BoFBreK 385

Options :
20 =5 2H,, W

1. ®

C+0, — CO,+0 (heatenergy)

ppe
2. ¢ (o5 38)

ax

Z+2HCI — Zncl,+H,

3.8

Na,SO,+Bacl, —» BaSO, +2Nacl

4.8

Question Number : 29 Question Id : 872834633 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a homogeneous mixture?
Bob m&&° derdich DoFo
Options :
Salt + Water
v B3P + 0%

Sand+ Water
=50% + D&%

Sand+ Oil
0¥ + 83

O1l+ Water
53 + %

Question Number : 30 Question Id : 872834634 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The process, used to separate salt from saltwater 1s
&P DB 08 eLpH TSHTHTOL SLTEHSTE (HE
Options :
Filtration
Efatatd

1. ®



Sublimation
AT
|, S @D

Chromatography
_, B

Crystallization
$)2E58e (BB
4.9

Question Number : 31 Question Id : 872834635 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the mcorrect pair of microorganisms and their group
Srgdden Hécn @ Sdrdro Ged) S8R a8k H8oHod
Options :
Daphnia — Microarthropod
oo - &g ea['_é@e'@smw

Ceratium — Fungi

, v Podiabo - 8Do(gren

Vorticella — Protozoa.. ...
ShRer - (@S

Chlamydomonas — Algae
TETraD - Fderen

Question Number : 32 Question Id : 872834636 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Coracias bengalensis 1s the scientific name of
FodaHS DorrBYD 30 T(Rabh To?

Options :
Peacock

|« D00

Bengal tiger

Torrd HO
2. %

Crow
=08

3. %



Indian roller

Fobe
4.9 o

Question Number : 33 Question Id : 872834637 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following disease does not spread by mosquito bite?
Bod TEE° & e Hg THoUR THH AB?

Options :

Japanese Encephalitis
DB T gl

Malaria
e olelovsic

2. %

Typhoid

3. o BarooE

Dengue
Qoter
o

Question Number : 34 Question Id : 872834638 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of different stages of mitosis
Bod T&&° S5 DFed TwE) DDE S¥o KBS (E&rQ) 1HBoS0s

Options :
Prophase 2 Anaphase—> Telophase >Metaphase
BEEE 2 Sod 88 2 @oé&tﬂ%% é:cﬁa?geﬂf%

Prophase>Metaphase - Anaphase 2 Telophase
L o BESES D He5588 Des 85 > wodsy

Prophase>Metaphase—>Telophase 2 Anaphase
BE0sE 2 5’13655‘{5{5-5 2 ettt S0 58

Prophase—>Anaphase >Metaphase = Telophase
r (DPEE 2 Sod 88 2 éxﬁ;@cﬁ% -2 Sl att

Question Number : 35 Question Id : 872834639 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which one of the following gland secretes growth hormone?
Bod =&S° D (HHod DEHBe HFEYSH (HOx0s
Options :

Pancreas
L. S0
Thyroid gland
goronG (5od

Pituitary gland

Elevwulfptelal
3. ¢

Adrenal gland
L w ol&8S (508

Question Number : 36 Question Id : 872834640 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
I[dentify the trophic level of frog in the given food chain
©FER Fendd Soth £ T %5263333
Grass— Grasshopper— Frog - Snake—> Hawk
K& 2 g 285 2 o 2 68

Options :
Prima Iy consumer
(3% DOTrHTBoen

Sec 011(18.1'}*' consumer

Br8cH DATeiiT=toen
2.¥

Decomposer
DN =Boen

Tertiary consumer
é@éacﬁ: DOFBriTBen

4. %

Question Number : 37 Question Id : 872834641 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In human fetus the blood cells are formed from
585 Dood® 8 Seren HE o8 DYoo

Options :



Liver and spleen
s8cho H8ak» Lo

Bone marrow

edshas
5 ® L] )

Pancreas

=0
3.8 ™

Heart
ok

4.%

Question Number : 38 Question Id : 872834642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The organ of corti 1s present in
==f woifo HEE® Edathod

Options :
Tongue
rens

Ear

28
2.

Trachea
Evidovshuat-Ta}

3. %

Eye
sy

4. %

Question Number : 39 Question Id : 872834643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the incorrect sentence from the following

8ob =8S° 380 a==R) HBoSos
Options :
Active immune system recruits many cells to the affected tissue to kill the
disease- causing microbes.
DEGHoSDN edolgmkind o @8 $Hod SoBwdE Y Lwrol Snwred’s
SB5008.



Female mosquito feed on many warm-blooded animals to lay mature eggs.
o &% DHODEy (105 DYERE & BESHe =R eFFSore &% oro.

2. ®
Taking antibiotics for common cold reduces the severity and duration
of the disease.
e s dirodad@rdl) E‘.ﬁr"mf.‘aé&éopcén, o T8 é@ﬁézﬁ: S0BakD 56
v SRR ShTmow.
Poorly ventilated housing 1s a major factor m the spread of air borne diseases.
™ Jendod [BRdnd oz 5&Sedt o weoe aggaoﬁ a@tﬁ:m Eodtrr
TrhBoshEEon.
4. % S

Question Number : 40 Question Id : 872834644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The organism in the given picture belong to which phylum
B0t ad)d £0 2 S8 Dothdod

Options :

Nematoda

D505t
1.+

Arthropoda
@L‘c’igéjﬁm

2. %

Platyhelminthes
& 9085
3. %

Cnidaria
DEBSH

4.%

Question Number : 41 Question Id : 872834645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This was set up in the place where Buddha first preached his teachings
2D Fo&E FBrr FHodE FKo & BV Fhoordd

Options :



Rampura Bull
oo ée)ﬁ:;fo

Bhattiprolu Stupa
L FE [Pen Srdo

The Lion Capaital

o, i
s o NOT T et

Thripitikas

L L_Eﬁnéa?m

Question Number : 42 Question Id : 872834646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
“Pertyapuranam’ describes the religious practices of
“280hoeeso” B HE Do BB
Options :
Hunter gathers

. S~ XS wprdE HDarmo 78
1. ¥

Indus Valley People
)« Dogr &0 (Haen
Aryans
sdogen

Rashtrakutas
m@m@@

Question Number : 43 Question Id : 872834647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The State that became a part of India in 1975 was
197568° 88080 & X055 oego

Options :

Tripura

] ® (08
Mizoram
oo

2. %



Sikkim

&0
LI

Manipur
D05

4. %

Question Number : 44 Question Id : 872834648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify false statement related to Vajj1 Mahajanapada
g DSBS D DoosoNS $8zR FrsRy hBotod
Options :
It had a Gana form of Govermment

1* 59 Hifeudito Hedold [PdaR) SO vokd

The ruler of Gana was called ‘Raja’
Keooreyy $BareER o’ @R HOTardd

Women Participated in the assemblies

) Lo%rden SSraded® ar»@g:d' =%
3.

Buddha belonged to Gana

L% m::eﬂg(‘.é: Fat>s) mwg&& Dobd

Question Number : 45 Question Id : 872834649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Whenever contour lines are closer, 1t represents
JrK)S Open ¥ oREEE Slalclay B0

Options :
Steep slope

o HSDE Tren dotnod
L o

Gentle slope

70 éfa&ém Sotnod
2. %

V Shaped valley

V e=55 &ab
3. %

Uniform slope

L x T DEEEM™ Botnod



Question Number : 46 Question Id : 872834650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The sun only stays just above the horizon in
Sr6%abo B8 Sad FoBo IR odly [@rodo
Options :

Equator

o045 By

Tropic of Cancer
Lol By

Tropic of Capricomn
So¥% T

Polar region

S [@rodo
4.

Question Number : 47 Question Id : 872834651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Indian Financial System Code (IFSC) and internet are not necessary for
BOLADS PTRIRIDS BRI 58 (2.99.9%.9) 8050 wodTeo g% 0
&9 o B0 50‘.’0&&:’@3
Options :
National Electronics Funds Transfer
HBADH QolTOE) dghe 28O

Real Time Gross Settlement
DOALY Dodw ‘(o:g@;: DESHoed

Unstructured Supplementary Service Data
Qozerd)Esim 50 S{Fows &0 HH%Hw

Unified payment structure
~ &> =
L% agﬁe)é 3o KJc“;caéw

Question Number : 48 Question Id : 872834652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The first Woman Teacher in India 1s
758 B¥0S° Fwsd e adrgmond

Options :



Savitribai Phule
| v TO@row FB

Jyothiba Phule
.- 58583? e
Sarojimi Naidu

$652Q TS
3. %

Eshwari Bai
éa%;a Foa oY)

Question Number : 49 Question Id : 872834653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
This 1s an example of a “Gulf”
28 wgrald aoesdn
Options :
Mediterranean Sea
- HFHoe Dan(Bo
Black Sea
L de Baw(Bo

Caspian Sea
SeR)0ha S|

Baltic Sea
98 Jim(Bo
4.

Question Number : 50 Question Id : 872834654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Turrebaz Khan was a revolutionary who
DHJITHEDS DBTE R
Options :
fought agamst the British during 1857 Revolt

1857 &%iharin Sochos® (D8R =88 8080 SPormid
I

fought agamst the Nizam of Hyderabad

, x et daro & §@T%orr Pomd



supported the rule of Mughals
. FnoFoene JH8EredSH éogiéa:}eﬁ}

3.
supported the British against the Nizam
|« O & &80korr D8R =68 Hga8TD

Question Number : 51 Question Id : 872834655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify true statement / statements related to the Legislative Council of Telangana.
Boorre X8 oid & Sonofods WX arcl) /aroed ool
a. Contesting candidate should be above 30 years
& $e5% FE DaswerH 30 SodSoren b dowd
b. 1/3 of its members retire after every two years
1/3 Ho Dghren (38 Boh Kol oo KBS DB 3%_:63
c. Telangana Legislative Council consists of 119 members
Boorrn T8 Hosd&t 119 éej:ﬂgw BoLTS
d. 1/12 of the members are elected by the members of Legislative Assembly
1/12 S0 S0BR =08 Rghren DXyt
Options :
only d
d 575
1%
a and b
a $o8csn b

\‘7

band c¢
; » bdas» ¢

only a
4 % A SoE

Question Number : 52 Question Id : 872834656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Raghupathi Venkaiah award 1s given to
DHB. BHnoHd So¥aly @Wég 5 (Heedo 5&3(‘5\:
Options :
Sports persons
B wapagies
L x BT Lok



Teachers
é%w&cﬁﬁwefa

Doctors
SEre

Cinema Artists

. 2R EoroeHhok

Question Number : 53 Question Id : 872834657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
This 1s not sold under administrative price mechanism
e Frome cholgroiio e DEcwosd
Options :
Kerosene
25%%%

Edible Oil

) S50y Ko
Diesel
bad

3. %

Liquid Petroleum Gas
928 D|EEDao R

Question Number : 54 Question Id : 872834658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Corporate Tax 1s paid by the companies
Zonden B0 By
(=N
Options :
at the time of purchase of raw materials

Sné Sorren koften TR0HPH Do
] %

before subtracting the expenses
P BBIJHE Swoth Do
on their profits
,, Eoad Gw¥) ergfo P BDFow



before the auditing of the company records
Se S0D8 S0t DOFow

Question Number : 55 Question Id : 872834659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This cannot be suspended during state of emergency
ShgaSlel ?X@JE& (SESoDBIPDH L) 58 Ba0erQ8 Den Bo
Options :

Right to life and personal liberty
» SleTat 'Eo;ajq) Lo £9oT FKy)

Freedom to move freely
_50;{53?1‘ H05803 L)

Freedom to form associations
Logorenr Edeﬁn)a 5

Freedom of Speech and expression
E Smdolgro, 37 (H%w® 'fo;z‘fg)

Question Number : 56 Question Id : 872834660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Treaty of Paris recognized the independence of
8% wijoso & BY FBolgR) HBoNod

Options :

Britain

Bes

France

sy

Libya

D&asr
3. %

USA

©hd=

Question Number : 57 Question Id : 872834661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The Country that 1s an mtegral part of the India due to “Look East Policy™ 1s
&) ©RirE evdorrdo Tarer) FEEEE drrtos® & B¥o ol riigod
Options :
Vietnam
Dab&Ho

1. %

Singapore

Rotirs
2. %

Bangladesh
DOreRE
3.¢ -

Japan
o]

4. %

Question Number : 58 Question Id : 872834662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Tebhaga Movement was led by
S ﬁscﬂés'w@& 5&;,&;0 H53r0D8H

Options :

Provincial Kisan Sabha
TR BrR &2
1. ¢ 2 ¥

Naval Central Strike Committee
) FoB¥ Tolhad B3y oo

Princely States

Boaraeen
3 % (]

Indian National Army

L % 88 80D 250

Question Number : 59 Question Id : 872834663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The river that flows towards the north of the Penimsular Plateau 1s
&% HBerH8 agoed (BS8oB $8

Options :

Narmada

S8

1. %



Ken
23

Tapati
B58

Mahanadi
SSEEH

Question Number : 60 Question Id : 872834664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Monsoon forms in the tropical area approximately between
e [Frogod® Lodrdhr & OFoTY g PHBITen I HoTEon

Options :
10° N and 10° S Latitudes
10°e dcm 10° & egozren

1. %

30° N and 50°N Latitudes

30° e o8cim 50° & egromeen
2. % o

20° N and 20° S Latitudes

20° & oBcsw 20°8 wgrozeen

[}

3.¢

60° N and 90° N Latitudes

60° & 08aiw 90° & egrozen
4. % ek

Teaching Aptitude

Section Id : 87283422
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 87283426
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 872834665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Appropriate meaning of learning is
@ﬁ;ﬁmﬂ)& SIsh @gc

Options :

Personal adjustment

2 =4
1,33 éﬁﬁé rm‘ﬁgm‘éao

Modification of behaviour

B588E° Sy
2.¢

Inculcation of knowledge
o) aBosEahEEn

Acquusition of skills
Syeo S0arYD

Question Number : 62 Question Id : 872834666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Teacher shall maintain following type of relationship with students :
ﬁ&w&dﬁwiﬁa &‘ngifge%s S (Bod DEIW JomoFsin DA Goiss

Options :
Stern and unapproachable
$BXFD BN wortns® THom okt

1. %

Free and easy
ﬂéa?sjcﬁwé;ﬁ_}?é 00A DD

2. %

Friendly and dignified

L v UTTEEDS DO TESEHSDE

Sarcastic and critical

L w SolirdR  oddin DB E N

Question Number : 63 Question Id : 872834667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Effective learning 1s
(2755080 @Ko

Options :

Rote learning

m@ é%c‘ﬁo
1. %



Group discussion
e vois-vpciinte)

ICT enabled learmning
ICT $:5Fcho8® egfdso

Experiential learning
O0PJTe8E &-9556360

Question Number : 64 Question Id : 872834668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Problem behaviour i a child 1s the symptom of
Dood® SHamHE HIES S (Bod DRAFR Do

Options :
Memory

ardd S8
=g ]

Maladjustment

- A0 Toresriadn

Restlessness
wd(FTos8s

Anger
&%%0

Question Number : 65 Question Id : 872834669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Important challenge for a teacher 1s
BrEainl8 SugrEhd Saren Dol

Options :
to engage the class
|, S5KED Ao

to maintain classroom discipline
S8KE KOS [ED8ERS EDow

2. %
to conduct examination
&

s g:aéc.‘_a}éa Q& Srothiy

to make teaching learning process enjoyable

Lo TS SRS BHES sifsssor Sawe



Question Number : 66 Question Id : 872834670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The learning which occurs as a result of drawing inference 1s
:‘-’Jo;éea@ aDSore =BAN @f,igééfm

Options :
Creating
‘cﬁe)%;oéaéo

Remembering
P B9E b
=

Applying
DOTrRoHe

3. %

Analyzing
D3R

Question Number : 67 Question Id : 872834671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A muld response of the teacher to the student disrupting others 1s
2SHOH 208 DY Do DY LoD DYSHS (BEK)0sD

Options :
detention
~l
| % DensySe

withdrawal of privileges
5 % rondien @
warning

?mzﬁhjaozﬁcﬁo
3.

In-school suspension
oo Hob H)8 Tabido

4. %

Question Number : 68 Question Id : 872834672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A plan of action prepared by a teacher for a particular class and period to

achieve the desired objectives 1s
e80d8 ogo FHoHL% ﬁ%“t;gcﬁmﬁa o8 B85S B LBHE 8%

Erro80d8 sroytdn (Hdd S (God dForr Heorrdd

Options :



Lesson plan

- %“éa HZ¥o

Unit plan

05eQed HEXo
2. %

Teaching plan

L x D58 B0

Project plan
DERE D%
4.% E3g oese

Question Number : 69 Question Id : 872834673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Women teachers are considered for teaching at primary level because
Solree adrmydneds (@PHE srond DorBodateRE 8mo

Options :

they handle children with patience
T8 Do LHEE FBFS®

they are ready to work for less salary
T SEH S8 HTHRE DForr Botrd

higher qualification 1s not required at this level
& Fond® 0k Dggds ©Bvso B

they have fewer chances in other professions
388 @@@55 08 8% olseren Botron

Question Number : 70 Question Id : 872834674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The success of the teacher 1s indicated through
&s&)*m;dﬁ:::‘-’.) %a"waé &9 weroe Srodnthéod

Options :

Students’ higher level achievement

| Tie al)s e

Good traits / personality
S5HE eferen / Sr8h&0

2. %

Quality of teaching

f‘i:\za‘ééﬁ 5558
3.¢



Good character
Z09 deo

4. %

Question Number : 71 Question Id : 872834675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
To raise the standard of education. it is necessary to
Doy (Berere DoSEOE oSEDS H8;

Options :

pay high salary to the teachers

sarocived ©if d8o Iosto

evaluate students continuously

Do Sosbo Sreroddo BAbio
2.¢ g “

revise curriculum
&é&oa‘*m?ﬁ: H5BoBEo

provide good infrastructure
4w 00D FFOY Behardiren Doz BaHEo

Question Number : 72 Question Id : 872834676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When a normal student behaves m an erratic manner m the class. you would
¥ o E)q::;g- SE51586° SXodorr (85580085, o>

Options :
1gnore the student

- g)c:rgg&) .%éaoaﬁcﬁo

talk to the student after the class
- S8 FrPond So=d S)mfagé’s bl el e

pull up the student then and there

Doz waﬁu}f)éé‘;}cﬁ Shod®othes
3, % 4 *

ask the student to leave the class
DergBR SBKE ok Iyt

Question Number : 73 Question Id : 872834677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The mmportant element in a teacher while teaching in a classroom 1s
S518 1166° FeRHEPH edrgrant SHomd)d wodo

Options :



Fixed posture
DB Fohi

Repetitive pause
@Eéoﬂa’aaé Do=no

Voice modulation

5065;60 HBT
3.

Avoidance of proximity
>t Dardoto

4. %

Question Number : 74 Question Id : 872834678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which method of teaching ensures more participation of students in the class
381586° O o D8 I Dorpies B Ter TiRod

Options :

Discussion method

o B w58

Recitation
obgo Sowosto
2. #

Role play

- Tef%se

Demonstration
@’ofﬁ@é éege‘ié

Question Number : 75 Question Id : 872834679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The full form of NEP 2020 1s
NEP 2020 &%) 5378 8o
Options :

National Education Programme 2020
JH8S AEATHS (@ 2020

Vational Education Policy 2020
| SRS EEES Srod 2020



New Education Policy 2020
oo DERS &red 2020

3. %

Nation Education Programme 2020
SRS AEES @S 2020

Question Number : 76 Question Id : 872834680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The three poles 1n the process of education are:
o A2
e HBaDS®, Homtd e
Options :

Teacher. student. principal
ST, Do, (o Sroraiod

Teacher, student. parents
eSgrcn, oy, $DSoken

2. %

Teacher. student. environment

L v a&tpgcﬁmﬁ:, SJC:E%, H8%oeen

Teacher, student, community
&%tp‘é;cﬁméo, S)CJE%, RD&eeadn

4.%

Question Number : 77 Question Id : 872834681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Teacher should be with -------------- approach
BRPLPRISS  ~omem ey o EON aow=d

Options :
Strict
288

humane

SO FAlen)
2.

friendly
L RS
punitive
aleTatul fie

4.%

Question Number : 78 Question Id : 872834682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The purpose of co-curricular activities in schools 1s to
BTl & Sogodo @Y e3d0

Options :
Boost self-confidence among students

D&t ©d) DT Q) DoEFobohHed
1. * e 5

Provide relief from academic work
SDCSE'; TS Dol BHEHH50 EDA0DHLD

2. %

Enhance competitive spirit among students

" e = <
. S)m*aﬁ%éj 828 5780 Doherd

Enrich learning experience of students
Do ©3fds oD eio o voulhict)
4.¢

Question Number : 79 Question Id : 872834683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In 21st century, education focuses on development of -----------
A e o e L e R = o, -3,
215 %@‘cgoés, DSy eaﬁ)zée)% 2 éa%} 2Hod

Options :
social learning
TSR ogfrddo

mtellectual learning

DEHEPE  eafHso
2. ® = o
emotional learning

) Q:E_fn fl‘/
. B S @ﬁﬂn}(“éo

socio-emotional learning

SR — wﬁaﬁéﬁ w8
4.

Question Number : 80 Question Id : 872834684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Leaming 1s a
odto oIb
Options :
Individualized process
- &S (BHEad



Group process
Sk (BB

Social process
FsrRs (BB

3. %

Sensitive process
YSTE (B
4.%

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

General English

87283423
3

Online
Mandatory
16

16

20

Yes

0

1
87283427
Yes

Question Id : 872834685 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (81 to 85)



Read the passages given below and answer the questions that follow.

Auctions are public sales of goods, conducted by an officially approved
auctioneer. He asks the crowd assembled in the auction-room to make offers, or
‘bids’, for the various items on sale. He encourages buyers to bid higher figures,
and finally names the highest bidder as the buyer of the goods. This 1s called
‘knocking down’ the goods, for the bidding ends when the auctioneer bangs a
small hammer on a table at which he stands. This 1s often set on a raised
platform called a rostrum.

The ancient Romans probably invented sales by auction, and the English
word comes from the Latin auctio, meaning ‘increase’. The Romans usually
sold m this way the spoils taken n war; these sales were called sub hasta,
meaning ‘under the spear’, a spear being stuck in the ground as a signal for a
crowd to gather. In England in the eighteenth and nineteenth centuries goods
were often sold ‘by the candle’: a short candle was lit by the auctioneer, and
bids could be made while 1t stayed alight.

Sub questions

Question Number : 81 Question Id : 872834686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Auction goods are sold

Options :

o for the highest price offered.

. only at fixed prices.
2.

., ataprice less than their true value.

. very cheaply.

Question Number : 82 Question Id : 872834687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The end of the bidding is called ‘knocking down’ because
Options :

The auctioneer knocks the buyer down.



- The auctioneer knocks the rostrum down.

. The goods are knocked down on the table.

, » The auctioneer bangs the table with a hammer.

Question Number : 83 Question Id : 872834688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What does the phrase ‘to gather’ mean?
Options :

L To collect

, » logether
To pick

To understand
4, %

Question Number : 84 Question Id : 872834689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Romans used to sell by auction

Options :
L spoilt goods

old worn-out weapons.
, ,, broperty taken from the enemy.

, w Sbears.

Question Number : 85 Question Id : 872834690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A candle used to burn at auction sales
Options :
. because they took place at night.

as a signal for the crowd to gather.

; » tokeep the auctioneer warm.



, v [0 limut the time when offers could be made.

Sub-Section Number : 2
Sub-Section Id : 87283428
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 872834691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The idiom ‘ride the high horse’ means
Options :
| « become abnormal

, . appeat arrogant

. mndulge m dreams

, « hate others

Question Number : 87 Question Id : 872834692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Can you give an example pertinent the case? Fill i the blank
with correct preposition.

Options :

= with

Question Number : 88 Question Id : 872834693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Pick the most suitable word to complete the sentence.
1s a person who hates mankind.

Options :
Misanthrope

) Philanthropist

Hypocrite



Pessimist

Question Number : 89 Question Id : 872834694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with appropriate verb form.
He Tajmahal last year.
Options :
_ has seen
1%

. had seen

3 s5aw

4 % Wwas seen

Question Number : 90 Question Id : 872834695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
He used to regale us with anecdotes.
The meaning of the underlined word 1s

Options :

L v Entertain

, » Bore

, » Flatter

. x BX

Question Number : 91 Question Id : 872834696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
“What a beautiful place!” The sentence is

Options :

|« lmperative
Exclamatory

2. %

_ Assertive
3 %

, » Interrogative



Question Number : 92 Question Id : 872834697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“My homework had been completed on time.” The active voice of the sentence 1s
Options :

. I completed my homework in time

, » L have completed my homework on time.

I completed my homework on time.
3. %

I had completed my homework on time.

Question Number : 93 Question Id : 872834698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Had he worked hard. he have got first rank.
Options :

| w will

) o would

shall

3.%

e should

Question Number : 94 Question Id : 872834699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
He said to the teacher, “What a tough paper!” The reported speech of
the sentence 1s

Options :

- He told the teacher that 1t was a tough paper.

He exclaimed that it was a tough paper.
2. %

s He told sorrowfully that 1t was a tough paper.

He exclaimed that it was a very tough paper.
4. %

Question Number : 95 Question Id : 872834700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



[dentify the grammatically correct sentence.
Options :
More they earn. more they spend.

. More they earn. the more they spend.
The more they earn the more they spend.

, » The more they earn. more they spend.

Question Number : 96 Question Id : 872834701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The car we were travelling in a mile from the university.
Fill in the blank with appropriate phrasal verb.

Options :

|« broke off

broke down
v

- broke mto

L broke up

Question Number : 97 Question Id : 872834702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Find the correct spelt word.
Options :

- Adulterate

, % Adelterate

.« Adulterat

~ Adultarate
4, %

Question Number : 98 Question Id : 872834703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What 1s the antonym of the word ‘odious’?
Options :
~ Famuliar
1. %



) @ Pleasant

3 % Insignificant

Cacophony

Question Number : 99 Question Id : 872834704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fill the blank with correct word.
Although I was of my cousin’s plans, I called her,
because there was no one who was willing to help me.

Options :

| » Skeptical
, » Remorseful
, » Fearful

excited
®

Question Number : 100 Question Id : 872834705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

My uncle 1s the Chess player in Hyderabad

Options :
| = more talented

, « talented

most talented
3¢

talentendest
General Knowledge and Educational Issues

Section Id : 87283424
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0



Sub-Section Number : 1
Sub-Section Id : 87283429
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 872834706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who was the first Education Minister of Telangana State
Boorre ooy &0 oy Dol 57

Options :

Sabitha Indra Reddy

S8z =0l B

Kadiyam Srihar

$8aho B8
2.9

Harish Rao
F68 ooH

K Chandrashekar Rao
2 Jol$3e8 oI

Question Number : 102 Question Id : 872834707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“International Day of Education” is celebrated on
@oéo;é&dia Derg &Ssérga’)o D Berd esosy%otrss

Options :

24™ Tanuary
2350 24

5™ September
RRoad 5

8™ September
o8 8

h
11" November

HJoxb 11
4.

Question Number : 103 Question Id : 872834708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana State Government Emblem was designed by
Boorren o°g ©8T8 DN Brsrobodda%



Options :
Aelay Laxman

Aekka Yadagiri Rao
Ni=p) OSSR TN

B. Venkata Ramanaachari
s x D. Dotk Sderad

Ramana Reddy
Bsoes BE

Question Number : 104 Question Id : 872834709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The cause of the recently ended “Whiskey War” between Canada and Denmark 1s
B S0Bdo aaﬁ;@ 08 2o SADS “&ﬁ)@r 78" % =80

Options :

Shoe Island

1 ?,O:U” 53@“05

Crozier Island
E520%8 oorol

Hans Island

Q) oerol

Franklin Island
(@8R nerol

Question Number : 105 Question Id : 872834710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Nail Polish remover 1s composed of .

FPg)Borbds B2BaLERE G Srabdo __ EOA sokwod.
Options :

Acetone

DHEET
1. ¢

Acetic Acid
DEE esho

Benzene

- JoR



Petroleum ether
25 Oaho %88

4. %

Question Number : 106 Question Id : 872834711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What does “Starred Question” mean when 1t comes to “Question hour” in the
Parliament?
FEDotns® FHHT 0358 % Somohod T EHT o Jw?

Options :

Important Question

| SOEEE By

Requires written reply
) % TeEREE QErpedo wdoddd

Requires oral reply

s SFHE Jdeprdo 9d0dHd

There are no sub-questions
&3 (HHeo SHenSodd

4. %

Question Number : 107 Question Id : 872834712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In view of foreign Reserves, which countrv urged its people to “drink less tea”
934 Sr5% Do RS 40D adse d Bdo PHeH & S BKHHY Tbkod.

Options :
Sr1 Lanka
Beok

1. %

Bangladesh

-
DOMPTEDB
2. % i

Nepal

L% IS

Pakistan
TS

4.

Question Number : 108 Question Id : 872834713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



“Yatho Dharmasthato Jayaha” is the motto of
“cH& $ENE° wcihs” 036 6 Dwd) e
Options :
Lokpal
L% SESrS

Lokayukta

Egeadovrviel
2. % %

Supreme Court

PR etote)
3.¢ e

Ministry of Law and Justice
&0 pbaw Tdh ol@E Ty

4. %

Question Number : 109 Question Id : 872834714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which organisation/institute has setup the ‘Aquamap’ centre to address the water
crisis i India?
TESTE DS ﬁoﬁw&)& $8HBoToD ‘worimD’ SolpeR) Srarodods Bog 26?

Options :
IIT Mumbai
L% ood Swo3

T Madras

ond HleD
2.¢

IIT Kanpur
o0d &8

3. %

[T Kharagpur
00d pSReS

4.%

Question Number : 110 Question Id : 872834715 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which was the last country to join the NATO alliance as the 30™ Member?
NATO %eefo &° 958 308 H5% S¥orr £68 30 DB?
Options :
Ukraine

=
w sEowe



Finland

2. % o8

Sweden
é‘o;ﬂﬁS

3. %

North Mecedomia

o5 H s ke
4.4 =

Question Number : 111 Question Id : 872834716 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who authored the book “Adrishya Bharat™?
“@CSE)-%E F8E 7 HPeR) S SDowrtn?

Options :

Sajaya
SO

1. %

Bhasha Singh
- orar Doh

Sa1 Deepak

Sron EHE
3%

Sagarika Ghosh
S8z 550

4. %

Question Number : 112 Question Id : 872834717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which Country did India defeat to win fifth time ICC Under-19 World Cup Cricket 20227
ICC @058 -19 (B0 55 (82¢5 20228° 588  32°Q) o.bod 08°F8 BES Renih%os?

Options :

Australia
@@E}o‘ﬁﬁ

]. %

England

zorrol
2. £

Pakistan
FEFS

3. %



South Africa
FE uld

4.8

Question Number : 113 Question Id : 872834718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which social media platform has discontinued the ‘Fleets’ feature?
D BB Dbair T 5D DTy S5 DHIvoB?

Options :
Facebook
| % woxE
Instagram
Lo SRS
Twitter
g etet
3¢ %8
Snap Chat
FS el
4 % o

Question Number : 114 Question Id : 872834719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which Science fiction novel coined the term "metaverse"
"erS8) " oF S0 @ PN HES 8o’ add@rhomdh?
Options :

Interface
2005 9D

Snowerash
0 ()

2.

The cobweb
8 ==h3D

The confusion
i~ N =
& Bl g

Question Number : 115 Question Id : 872834720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In view of Union Territories and their Judicial Capitals which of the following 1s
matched incorrectly?
BolEF0E (Frozren B T8 whhchE suhody Bir; Bod 8 28 Sy
a2sB0hntos?

Options :

Andaman and Nicobar Islands- Kolkata
wolsrs Sbdhn 9585 a:na?oE‘:] ety

Dadra and Nagar Haveli- Surat
5 ¢ Tloe Bckn X6 D - Sr8S

Lakshadweep- Ernakulam
oZbh - domeo

Puducherry-Chennai
HHIHB - IF)
4.%

Question Number : 116 Question Id : 872834721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
National Education Day is observed in India every year on
EEBS0S® wdch Doy &556353513 (08 Sod&Bo Sk B 2:859%08r%

Options :

5% October
@Eﬁa}E 5

10" December
Gmod 10

2. %

15® March
5r8) 15

3. %

!.l T
11" November

¥So08 11
4.

Question Number : 117 Question Id : 872834722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who is the Chairman of the Drafting Committee of NEP 20207?
8cd Doy Dgrdo 2020 ([Roh 2808 TGS J5E?
Options :
K. Kasturirangan

3. E53B50KS
1. ¥



Najma Akhtar
L. So59 €58
M.C. Pant

, x @O.Q Ho&

K. Subramanyam

= el i~
x> ~o|2sea50

Question Number : 118 Question Id : 872834723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which educational mstitution is ranked first in the NIRF 20217
NIRF 2021 ogoofi ($s=80 I8 EJ;ESO@G QOIS doy S0y 267

Options :
[ISc, Bangalore
2.0.000.0 TForHvErd

Jawaharlal Nehru University

. 23578 o8 I P Dogoaho
2.

ITT, Madras

®.0.8 DR
3.

Aligarh Muslim University
D8 Hwo ¥ Dugeddo

Question Number : 119 Question Id : 872834724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who has been appointed as the new Chairman of UGC recently?

2dSe UGC £°8 3ES m 5% Dchodhecing?
Options :

B. Ramachandra Rao

. 8. oooiSo|BTrsd
1.

M Jagadesh Kumar

do =6R HS5rE
2.

K Satchidananda Murthy
. © Sfrtod &g



Moolchand Sharma

Sard Sob éeﬁé
4, %

Question Number : 120 Question Id : 872834725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Raja Ram Mohan Roy advocated strongly in support of the education of

the people of India through the medium of

TPoP0Pe AP n 0D & Sgisho oo FEETE (Pese DEE éagé_:gm

KO srdomd

Options :

Modern Indian Languages

| OERE FBBAD rden
Arabic
w38E

2. %

Persian
$BAHS

3. %

English

07330
4.

Question Number : 121 Question Id : 872834726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s not a cause of failure of Basic Education?
208 =& &° 28 (0% ey Qé@é&)& =80 ==¢tn?
Options :
Mother tongue as a medium of instruction
|, Do Sreghorr S

Lack of interest of the common people

SRy [Bued edf SEdtSEo
2. %

Shortage of tramed teacher

. B%es TohS éa‘q:gciﬁwa P58
3.

Traditional examination system
, x Todmdd Hog Dgrso



Question Number : 122 Question Id : 872834727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The National Literacy Mission(NLM) was started in the year
8D FEBE DRS (NLM) & (@80D0ds Sods)so

Options :

1978
1%

1982

1988

3. ¢

1985

4. %

Question Number : 123 Question Id : 872834728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Detention in primary class for more than a vear 1s known as
B8 SEHAE® o8 JodE)Bo Kol i wo VOBIAEo BB
Options :
Wastage

Byl

Stagnation

DS
2.4 T °

Elimunation
SohoR)

Rationalization
(Shtatetels

Question Number : 124 Question Id : 872834729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Education is a great leveler and 1s the best tool for achieving economic and
social mobility, inclusion, and
D ©NB ¥ S BSed (leveler ) Hdaio ©BY Bakn FErey Sodded

0B ———— FHoSRE gD FHdo

Options :



disparity
S0

discrimination
s
05K

mequality
| SOETE
equality

DardeEto
4. -

Question Number : 125 Question Id : 872834730 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which ITT wall start Vastu Shastra classes for architecture students?
@6@&35&5 &wgéga %o Ty R S8rie o IIT @sodoiitod?

Options :
IOT Kharagpur
0.0.8. 8N Hrb

[T Bombay

0.0.8. 7o

IIT Madras
2.0.8. o

IIT Indore
0.0.8. 2085

4. %

Question Number : 126 Question Id : 872834731 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The word ‘curriculum’ 1s derived from the Latin word ‘currere’ which means
%80 o HBo erdS HBo %D Kok aXdolod. K K8%ed edre
Options :
to develop
o058 ERTe Ve et Al
Q

1. %

to guide
SrERBF0 Dahe-R8

2. %



fo assess

. wosST SIaheQl
3.

{0 rn

oden Do
4. ¢

Question Number : 127 Question Id : 872834732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following pairs are correctly matched?
o8 wded® 29 BT wSBabndH?

a. Strachey commussion : Famune
9 B205S £5%
b. Hartog Commuittee  : Education
SN £50d ATy
[} 2]
c. Frazer Commussion : Police reform
(Besd B85S PO Jod)8es
Options :
a.b
1. ®
, ¢ abgc
;% b
a,c
4. %

Question Number : 128 Question Id : 872834733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Stanford Binet scale measures this attribute of an individual:
FS 588 V3T S 8 S8 Do) oferd) Bendod

5] [ o ] [ L= —D

Options :

Intelligence

ey

1. ¢ eg
Creativity

- T &S

Aptitude

NarreT=dio
3. #



Personality
ta .
Jt&o

4. %

Question Number : 129 Question Id : 872834734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Value Education should help in
Dende D& B SITrHHESBH

Options :

Increasing states imcome
2 %
s oolEY  ©ErcHo DENDED
Increasing teachers income
ﬁ&)ﬂ;@.cﬁn@ ©Eroho PXIHL%

Controlling guardian’s expenditure on child’s schooling
Sgo SHPP DoBEHN §0irl) Aho(Bohisd

3. %

Eliminating violence fanaticism

SPod% Honohodd é}ésarzm‘@cl EFoNhohér
4.

Question Number : 130 Question Id : 872834735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Maktab’s are:
SoED e edrr
Options :
Centres of Primary Education
E880% Do Solgren
1.
Centres of Secondary Education
) Seegsgns Do Solmren

Institutions of Higher Education

- ﬁé&é &3@5 Doen

Places of worship
(8 Jeren
4. % =R



Computer Awareness

Section Id : 87283425
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 87283430
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 872834736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Space, tabs, line fields and carriage returns are examples for
A, &rd), BS 2:&53 S8ain =o0F dvd)) DA errBmen

Options :
Special reference
)AS BFBR)

Special elements
)RS 0ot

2. %

Special Characters

ey e
)0 ""aae“'as-nj

White Space
3¢5 )0
4.%

Question Number : 132 Question Id : 872834737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the site name 1s www.info.in This site 1s a secure sife.
Identify the correct link to the site .
WWW.Info.in oXgs o8 2. 26 HEESHEH. T o) 988 Do Houod.

Options :

s http://www.info.in
L http/www.info.in
5 = Info.n

https://www.mfo.mn
4.¢




Question Number : 133 Question Id : 872834738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Expand TCP/ IP
TCP/IP ® 83808 oechrr

Options :

Termuinal Control Protocol / Internet Procedure
©BS Lol’S @S | motd)El (Phesd

1. ®

Transmission Control Protocol / Internet Protocol
ErNHRS o’ (@S / 2008 RGeS

2. %

Terminal Control Protocol/ Internet Protocol
0B Lol*S @3PS / mowd)ll (PSS

Transmission Control Protocol / Internet Procedure

EPRDS Zolts®S B¢’ / m0tBeT (@b
4 %

Question Number : 134 Question Id : 872834739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which language 1s used to create web pages?
38 Do SAF68 D R BBEEAT?
Options :
Hyper Text Markup Language
b BF) Srfed oromd®

1.v
Light Weight Markup Language
B¢ Jowed Srfed orons
2. %
LaTex
. B8
Curl
-

Question Number : 135 Question Id : 872834740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the primary memory. which one of these 1s known as read / write memory?
2808 =&E° (D% D06 ( Primary memory) &° 65 /BeT Db ©d
300 o wotrd

Options :



. ROM
, » RAM

.. PROM

Hard Disk

FoA
4% 57

Question Number : 136 Question Id : 872834741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Processor used in Apple’s Macintosh computers is:
oS $7808'R Zowd & & @ INE D FrEsd:

Options :

Think Pad
| = §0F &8

Athlon
[l loatS)

Celeron

s x DTN

Power PC
500 Bb

Question Number : 137 Question Id : 872834742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The presence of an unauthorized user 1s a network defined as
2% 5&5&55&@*3&5 oXdoBlorr Faulsto oI
Options :

Performance issue
o R,
QJUQB&&J n:.éanao

Reliability issue
&%;é@cﬁaé SRSl

Security issue
HE5E B0y
3. %



Bandwidth Issue

coplotat Al ésﬁ:‘rﬁa

Question Number : 138 Question Id : 872834743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The collection of various networks 1s called
09 TG LB ©HXs

Options :

Intranet

| » BOErIET

Internet

2060180
2. ¢ =

Local Subnet
3 % 655 SRS

Local Area Network
2S5 HBoie 558,
4, %

Question Number : 139 Question Id : 872834744 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the following is not a Networking Device:

208 8&° 3 ’é&;oﬁ H8xBo =6
Options :

Cat 5 Cable

-
s‘gﬁ 5 2z

Router
5w BP08

Linux

88E
3.8

USB WiFi1 adapter

0iw.R.8 I owHs
4, % -

Question Number : 140 Question Id : 872834745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The type of switching used in Internet 1s:
wodreo & add@rNod Rdof:

Options :

Packet Switching

287 2rdoh
1.« ™

Cell Switching
& 2ol

Circuit Switching
R8rped ol

Message Switching
E yDohR
4. %

Question Number : 141 Question Id : 872834746 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

A device which mcludes one or two speakers and a microphone,

all mounted to an adjustable headstrap 1s called a:
2.8 HOETRE .58 So Bod HESH 8, $8TEHOR TETS S aor beoFd

Options :

headset
G ael

headwork
Fouliad .265‘:;_

2. %

headdress

. EES

headgear
GRS

Question Number : 142 Question Id : 872834747 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

The smallest element to define visual element on a monitor 1s:
28 3rQ®b D 08 2§ drelsn:

Options :
Pixel

Ly )



Character

e ptelela]
2. = o e

Byte
BT

Word

4, ® ©

Question Number : 143 Question Id : 872834748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

One of the following 1s not a file extensions to identify an Image file:
208 26 I5BES &° &f S (Image file) ® rHGosRE:

Options :

|, bng

, « IPg

Dbm
3 % P

L v Axt

Question Number : 144 Question Id : 872834749 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following is not a part of CPU:

Bod &S Zobah Kodoed Qarifo & grifo =08 :
Options :

Hard Disk
B &%)

Processor
(BFRR8

SDRAM
dndedbldo

Monitor
AT MS)

Question Number : 145 Question Id : 872834750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The speed of a system 1s a measure to compare the performance of various
devices in computer, mobile etc. Name the exact parameter:
50?’.315&35, DO P od® DS Hb%oee HVETQ) Fevidord =& Stto 2.¥ Podrdo.
62 Somobod PSS Febsira -l Bendod:

Options :

Giga Bytes

Arr Zéoen

1. %
Microseconds
DERERY

2. ®
Gigahertz

s ANTS,
Tera Bytes
&858 Béwen

4, ® i

Question Number : 146 Question Id : 872834751 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Expand the term USB:
USB 8 83809 oedhre

Options :

Unshielded System Board
oShBE digo Y

Universal System Board
APRBES vijo T
2. ® © C
Unidentified System Bus
030808 PE djo R

Universal Serial Bus

evsviabtt 58055 05
4. &

Question Number : 147 Question Id : 872834752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Consider the following path “.\mam \home \dev \text”.
What 1s the name of the present working directory in this path?
“\main \home \dev text” o && Q KHQoSod. & & & Hhdo

HRUK) §BLd 98 ?
Options :



| v Main

, » home

dev

text
#®

Question Number : 148 Question Id : 872834753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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While dealing with various types of data, we get specific output, which
consists of images. video and sound. Identify the correct name 1n the list
below that match the specified output.

DS Smrozro & HRTABYD 2.8 VEES BEHES Dgrer, DA Db
§R & drim $5X008. (Bod w8S° Kool VERTE THEE FPXOR HBoSol.

Options :

ROM
1. ®

_ RAM
Multimedia
v

DDRAM

4. %

Question Number : 149 Question Id : 872834754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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If a Programme and a file format cannot work together, they are said to be :
a8 3¢ o8 (@fro Dbam o8 DS 0T K0% SVTHIT, @ :
Options :

Proprietary
SR

1. #

Incompatible

©HH8NHTHD
2.9 RETSS

Compatible
DHBRHZBD

3. %

Universal
| BESw

4. %
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Which of the following memory is very fast when compared to the other in the
list mentioned below ?
Bod =8&° DY IrbS® ( MEMOLY) oQodod InSosEs d6?

Options :

L RAM

DVD

2. %

Hard Disk

-\I‘_B -
s x FOGRY

Flash Drive
.« ¥EES



